
 

Compatible histories like compatibleproperties
Y se Y YP_Y Ya tap

Define logical negation Y I Y
Example coin toss H H IH CHT CIT

Spin the 12301 3 12101 13 t 12301 3 t K I Lx

Conjunction if YY _Y Y then Y Y _YY
Example Y 12 30 I Y Io 01 1 Y Y 12 301 3

start 12 3 and end Lxtl

Disjunction if YY Y Y then YY Y Y Y Y
Example Y 12 30 1 3 1 3

Y 2 1 12 3 01 1
Same example as above

I I
Y t Y Y Y I t l 1 2 30 Xt t 2 101 3 t z I 01 3

start Zt or end Xt
I Iz I 0 x 7

not start 2 and end x

Special case Initial state Ho producthistory

y 14.301740 i oPIT C fit history Hilbert space
Define chainhet 1 PETIsf Tz P to 14 EH

ordinaryHilbert sptace

Generalize Born rule propose Pr I LI I I 11 II 112

Probabilityof PY at Ei andPat at ta cud Pff at tf
Is it correct



check two time history

YE 1 10 P d
K P Told
2127 4 1 I P Told PrEP lek V

W R I N
Che iaryh Y the history that actuallyhappens
14 14 To14.7 Ink I ly I To 14

P P

U 1 3014,3014.1 E ft tu 1427144T 14,724,1To 14 EH
un
4 I 444

Lulu www.kx 14SI KrkH.sT 1r

Logical consistency

Let Yd 2 be a history samplespace mutually compatible and
no exclusive sum to identity

Set Yt Y YF y F J is E onp
Note IF 1 t 1157 because projectors at eachtime add

propose Prc F LF IF LILI 45115 k 45 45 II
Pr E t 1745 t 2Re 4 45
Pr Ior F t 2 DELI IF

Sufficient condition for consistency I 1 5 o HI 15e Fl



Exampleinconsistentoryfamily dynamics T I

Y 121 101 301213
42 121301 3012 3

y 2 101 1012 3 Complete and compatible set
4 forms valid samplespaceY 12130 Ix 3012 I
2 12 I 0 I 0 I

il vz Il vz
M

Y 12T L211 74 12 7 12 2 7

Y Y all have Pr th 0 Note Y Y denet happen butPr40
due to intermediate amplitudes

Y 143 Fo LY LY to not consistent

Alternatedynamic B By T 12 7 txt 12

I
1Y 12 742 1 TI Xt LX t ITI z t to PrcY1 0

Y'doeshappen
1423 12 742 I TI Xt 4 1112 7 12 7 Pr Y7 1 Unitary
1437 107 and 1447 0 4214 o due to initial state

consistent


